

Promotion-Specific Conditions

PROLINE Sportsbook – Chances Casino Fort St. John

These terms and conditions (the “**Conditions**”) apply to the following two promotions (each, a “**Promotion**”):

Promotion 1: Bet to Enter ‘Vancouver Game Day Package’ – Grand Prize; and

Promotion 2: Red Zone Roster Activation

Each Promotion is governed by the Conditions as well as BCLC’s General Terms and Conditions for Promotions (the “**General Conditions**”). Where the Conditions and the General Conditions conflict, these Conditions will prevail.

Entry in each Promotion is subject to the PROLINE Retail Sportsbook Game Conditions, as applicable.

Qualified Entrants – Additional Restrictions: In addition to the excluded individuals set out in the definition of “Qualified Entrant” in the General Conditions, each of the following individuals is not a “Qualified Entrant”:

- a. a BCLC contractor;
- b. a BCLC service provider or Chances Casino Fort St. John employee; or
- c. a GameSense Advisor.

PROMOTION 1: BET TO ENTER ‘VANCOUVER GAME DAY PACKAGE’ – GRAND PRIZE

1) **Promotion Period:** 1:00:00 pm MT on Sunday, September 21, 2025, to 10:00:00 pm MT on Sunday, September 21, 2025.

2) **Prize:** One grand prize comprised of:

- (i) round-trip Economy Standard flights with Air Canada from Fort St. John to Vancouver for the Winner of Promotion and one (1) Guest for a total of two (2) people departing Fort St. John on January 16, 2026 and returning on January 18, 2026, with an approximate value of \$1,000;
- (ii) one (1) double occupancy hotel accommodation at the JW Marriott Parq Vancouver for two (2) nights on January 16, 2026 to January 18, 2026, with approximate value of \$2,000;
- (iii) two (2) club seat tickets to the Vancouver Canucks game at Rogers Arena on January 17, 2026, with a value of \$900;
- (iv) one (1) \$500 Rogers Arena Gift Card;

- (v) two (2) \$500 VISA Gift Cards; and
- (vi) one (1) \$400 Uber Gift Card.

The total approximate retail value of the promotion Prize is \$5,800. There is one (1) Prize available to be won.

3) **How to Enter:** During the Promotion Period, a Qualified Entrant may follow one or both of the methods set out below to enter:

- (i) PROLINE Bet Entry Method:
 - a. place a PROLINE bet at a self-serve terminal at Chances Casino Fort St. John for a minimum value of \$5.00 on any Sports Event during the Promotion Period, as verified by a PROLINE brand ambassador attendant; and
 - b. complete the Promotion entry form hosted on an iPad provided by the PROLINE brand ambassador.
- (ii) Marketing Opt-in Method: opt-in to receive marketing communications on the Promotion 1 entry form hosted on an iPad provided by the PROLINE brand ambassador at Chances Casino Fort St. John. No purchase is necessary.

4) **Number of Entries:** A Qualified Entrant may receive a maximum of twenty-two (22) total entries in this Promotion (each a “**Promotion 1 Entry**”) as follows:

- (i) Each time a Qualified Entrant completes the PROLINE Bet Entry Method, they will receive one (1) Promotion 1 Entry. A Qualified Entrant may receive a maximum of ten (10) Promotion 1 Entries through the PROLINE Bet Entry Method described above.
- (ii) A Qualified Entrant who enters through the Marketing Opt-in Method will receive two (2) Promotion 1 Entries.
- (iii) If a Qualified Entrant enters through the PROLINE Bet Entry Method and through the Marketing Opt-in Method, they will automatically receive two times (2X) the number of Promotion 1 Entries earned through the PROLINE Bet Entry Method, up to a maximum of twenty (20) total Promotion 1 Entries, in addition to the two (2) Promotion 1 Entries received through the Marketing Opt-in Method.

For example, if a Qualified Entrant completes five (5) Promotion 1 Entries through the PROLINE Bet Entry Method during the Promotion Period and also enters through the Marketing Opt-in Method, they will receive:

- $2 \times 5 = 10$ Promotion 1 Entries (PROLINE Bet Entry Method); plus
- 2 Promotion 1 Entries (Marketing Opt-in Method);
for a total of twenty-two (22) Promotion 1 Entries.

Entries must be received by BCLC before the end of the Promotion Period.

5) **Draw:** September 21, 2025, between 10:00pm-10:30pm MT, done by Behaviour Inc.

Draw will be conducted on the specified date and time, or as soon as practicable thereafter.

6) **Odds:** Odds of winning depend on the number of Entries received during the Promotion Period.

7) **Conditions of Prize:**

- Flights and hotel accommodation must be booked through Behaviour Inc. by December 1, 2025. Bookings are subject to availability.
- The Prize and individual components of the Prize may not be transferred without BCLC consent.
- Winner will be responsible for any other expense not explicitly included in the Prize. Excluded expenses include parking, taxes, gratuities, telephone calls, in-flight purchases, and in-room charges. Winner may be required to present a valid major credit card upon check-in at the hotel to cover any expenses over and above the standard room charge. Winner and travel companion are responsible for all necessary travel documents.
- The terms by which the Uber Gift Cards may be redeemed are governed by the applicable Uber Gift Card terms and conditions. The terms by which the VISA Gift Card may be redeemed are governed by the applicable VISA Gift Card terms and conditions. The terms by which the Rogers Arena Gift Card may be redeemed are governed by the applicable Rogers Arena terms and conditions. BCLC is not responsible for administering or ensuring compliance with the terms and conditions relating to the gift cards.

8) **Time to Claim Prize:** Drawn Entrant must accept the Prize within five (5) business days of initial contact by Behaviour Inc.

9) **How to Claim a Prize:** The Drawn Entrant must:

- present valid government-issued photo identification; and
- provide/confirm an email address for electronic delivery of the Prize or components of the Prize and, if required, provide a mailing address for delivery of the Prize or components of the Prize by courier;

- (iii) complete a prize release form; and
- (iv) correctly answer a time-limited skill testing question.

Behaviour Inc. will contact the Drawn Entrant with instructions on how to receive the Prize and book their hotel accommodation and flights.

PROMOTION 2: RED ZONE ROSTER – ACTIVATION

- 1) **Promotion Period:** 1:00:00 pm MT on Sunday, September 21, 2025, to 10:00:00 pm MT on Sunday, September 21, 2025.
- 2) **Prizes & Odds:** The Red Zone Roster activation consists of the following Prize options:

Prize Name	Individual Prize Value	Total Available	Total Prize Value	Odds of Winning
\$10 Casino Free Play	\$10	150	\$1,500	23%
\$20 Casino Free Play	\$20	120	\$2,400	19%
\$40 Casino Free Play	\$40	80	\$3,200	12%
\$60 Casino Free Play	\$60	100	\$6,000	16%
\$20 Food & Beverage Voucher (Chances Casino FSJ)	\$20	90	\$1,800	14%
PROLINE Yeti Mug	\$55	60	\$3,300	9%
\$50 Fanatics Gift Card	\$50	30	\$1,500	5%
NFL Jersey	\$200	15	\$3,000	2%

The total retail value of Promotion 2 Prizes available is approximately \$22,700. However, not all Promotion 2 Prizes may be awarded. Based on the anticipated participation and Promotion 2 Prize distribution, it is anticipated that approximately \$15,000 worth of Promotion 2 Prizes may be awarded.

- 3) **How to Enter:** During the Promotion Period, a Qualified Entrant must follow the following steps during the Promotion Period to be eligible for a Prize:
 - (i) At Chances Casino Fort St. John, submit contact information at the designated kiosk or with a PROLINE brand ambassadors in order to receive PROLINE Red Zone Roster fantasy card; and
 - (ii) spin the inner wheel one (1) time to determine the Quarterback player selection; and

- (iii) spin the outer wheel three (3) times to determine the skill position player selection; and
- (iv) apply corresponding player stickers provided by a PROLINE brand ambassador to the fantasy card to finalize the lineup for the current game block; and
- (v) retain fantasy card for tracking player performance during live gameplay where each touchdown scored by a selected player will count as one (1) point; and
- (vi) redeem points for one (1) prize at the Red Roster Zone during the Promotion Period based on the total touchdowns scored by selected players and in accordance with the prizing scale outlined below. Prizes are available while supplies last.

Touchdowns Scored	Prize
2	\$10 Casino Free Play
4	\$20 Food & Beverage Voucher (Chances Casino FSJ)
5	\$20 Casino Free Play
6	PROLINE Yeti Mug
7	\$40 Casino Free Play
8	\$50 Fanatics Gift Card
9	\$60 Casino Free Play
10	Authentic NFL Jersey

- 4) **Number of Entries:** A Qualified Entrant may receive a maximum of one (1) Red Zone Roster fantasy card for use to enter Promotion.
- 5) **Draw:** No draw is involved in this Promotion.
- 6) **No Purchase Necessary:** No purchase is necessary to enter this Promotion.
- 7) **Conditions of Prize:**
 - a. All scoring associated with the card at the time of redemption is considered final.
 - b. Gift cards and vouchers are subject to the terms of the individual retailer or service provider.

- c. A Prize may not be transferred without BCLC consent.
- d. Prizes are subject to availability and may be substituted at the discretion of the Brand Ambassador based on remaining inventory.

8) **Time to Claim Prize:** Prize must be claimed at the activation table within the Promotion Period and prior to the entrant's departure from Chances Casino Fort St. John.

9) **How to Claim a Prize:** An entrant must present valid government-issued photo identification.

The Promotion 2 Prizes will be awarded to eligible Qualified Entrants by Behaviour Inc.